1/16 R—2

BT Al EHE- AOR(BEAN)
FR285E481H
B % gl 5 2 it

LEE s 0 0 0 0
B e 5 0 0 0 0
TR ZEHT T3 0 0 0 0
EE o 0 0 0 0
FHEETES 9 14 14 28
THEETTY 0 0 0 0
TRAT A2 0 0 0 0
TRZEET/NE 7 19 38 41 79
HERTEAH 1 2 2 4
HHEETR R H 13 17 23 40
HERT=AH 0 0 0 0
TAEET S H 0 0 0 0
THZEHET R A 2 3 1 4
LEE =R 0 0 0 0
EESNGN 11 11 17 28
EESarEl 17 26 30 56
FAZEET H A 0 0 0 0
E ZEHT T 4% 3 9 8 17
18 ZETHE B 16 27 23 50
THEEET 0 0 0 0
A8 HEHT @ §i] 4 5 5 10
THZEAT SE 95 152 164 316
AEFAFEAR 67 87 80 167
g dip N 0 0 0 0
KIFHT& 1L 94 59 14 133
KRIFETRET 0 0 0 0
KIFETEF I 131 185 184 369
KiZETKH 0 0 0 0
KIRHTE # 0 0 0 0
KIRETRS 11 66 99 99 198
KiFATERE 55 78 68 146
KIFET EFE 0 0 0 0
KEFHEFE 48 76 62 138
KA ERE 0 0 0 0
KIRET E ALl 55 177 94 17
KIRHT 3 i 52 64 62 126
RIFBTYN IR 22 33 28 61
RIFETHA 11 17 21 38
RiFHTEE R 57 14 14 148
KIRHT 4 th 38 6 1 8 15
KIFBU/INEH 33 51 45 96
KIFHT#F 70 86 100 186
KIFHTSE4E 70 107 101 208
KEATTE 0 0 0 0
KEATRE 48 18 76 154
KIFHT+HE 67 94 90 184
KIRET A # 0 0 0 0
KIFHTKP 99 116 127 243
KIFHT i ¥ 17 20 22 42
RIFATFEEE 1 1 3 4
KIFET 49 0 0 0 0
KRFHFE S 62 84 86 170
KIFETFEEH 88 115 126 241
KIZHTE R 8 9 8 17
KIRET dimdk 11 25 18 43




2/16 R—

B £ & &t
KIZBT/\bE 15 23 31 54
RIFATEL 0 0 0 0
RIFRTE % 37 61 51 112
RIFRTEEA 0 0 0 0
KFATER 0 0 0 0
KIFRTE R 85 110 128 238
KIFRT G4 43 59 61 120
KIFATE# 60 91 75 166
KIFRTIAT 2 1 2 3
KIFATEE 49 61 57 118
KIFAT AL 237 268 317 585
RIFRTRIE A 0 0 0 0
KIFRTE ML 26 23 24 47
KIFET- 5 4 4 4 8
KFATIL /R 44 49 52 101
KRR B 2 3 2 5

RIFET &Ef 1,842 2,395 2,460 4,855
BBET—TH 0 0 0 0
EBE—TH 93 76 83 | 159
BBET=TH 37 49 29 78

BIBET S 130 125 112 237
=nETESH 49 62 63 125
B 110 128 125 253
ENET 36 49 51 100
EPNlE 90 108 124 232
EPNET 97 112 116 228
=nETAS 74 82 96 178
et 180 228 220 448
BN 161 190 202 392
=nETAS 122 136 17 307
=nET+5 111 150 147 297
=ZAEES 0 0 0 0
=BEHRE 21 24 24 48
=nETHEA 11 21 18 39
N 36 34 52 86
= SET LS 22 29 36 65
=BT RETE 10 18 11 29
=BT S 28 9 20 29
EXNipN- 0 0 0 0
=pETRE 20 19 13 32
=HELEH 0 0 0 0
=AEIE 53 69 57 126
=sELER 0 0 0 0
=AATILE 2 4 2 6
= ETILE 0 0 0 0
=AEETS 0 0 0 0
=AETAR 4 6 11 17
e ERE 32 50 39 89
=ARER 0 0 0 0
=BG 0 0 0 0
=#B/NE 26 27 23 50
= AETEIS 14 14 16 30
B E 4 7 7 14
=pETRE 0 0 0 0
=pRRTER 0 0 0 0
=sHEERRE 33 31 31 62
=sEEE 1 1 2 3
=pETEE 4 3 4 7




3/16 R—

B % T it

= BT KHRET B 8 14 11 25
=HHEEH 180 230 237 467
=RETIREAER 46 59 61 120
= AETEREAL 142 176 180 356
=RETIAE 34 50 47 97
=AEEH 83 14 19 153
=H/ETIR 80 95 107 202
=AEHER 33 21 29 56
= HHETIRET 18 25 25 50
=BT S 51 52 79 131
=HHETXIH 0 0 0 0
=H/HERX 18 14 60 134
—RHETEM 42 56 52 108
= AL 12 16 12 28
=A/ET KK 0 0 0 0
=RETHR R & 5 6 8 14
=RETE R 2 5 2 7
= #HET8 19 25 21 46
=AEREL 1 8 6 14
=RETR—TH 154 202 195 3917
=RETR-TH 274 335 322 657
=RETR=TH 121 145 166 311
=RETHRETH 148 179 169 348
=RETRATH 201 251 261 512
=RETHE 0 0 0 0
=BT 150 146 168 314
—#/EEO 55 66 61 127
=RETHETE 21 31 30 61
=RETE 0 0 0 0
=RETLS 0 0 0 0
=HHETHIE n 71 98 175
= A ETHAE] 24 38 31 69
=BREARF 2 1 4 5
=RETETE 47 15 84 159
=RETEFF 5 0 5 5
=HETELL 20 16 16 32
=ETE L 3 4 5 9
- i v 3 5 6 11
=RETHE—TH 97 106 117 223
=RETHEZTH 106 126 134 260
=RETHE=TH 101 125 138 263
—AEEE 246 292 300 592
—B"E &5t 4,040 4,823 5,007 9,830
=#d&E—-TH 138 152 186 338
=#&J&E=TH 256 303 321 624
=#&J&E=TH 268 365 351 716
=#&JEmTH 94 123 119 242
=#&dERTH 240 289 299 588
=&dEANTH 189 229 243 472
=8i@ Sit 1,185 1,461 1,519 2,980
THEERRHA 38 57 65 122
FHETERRE 4 4 6 10
THETARHE 22 31 24 55
FHETTFARE 20 31 34 65
FHETTF&ER 2] 32 39 n
TFHETRIR 13 118 121 239
FHETHERR 50 717 60 137
THEH_RH 3 4 8 12




4/16 R—2

B % il it

FHETHIE 11 11 4 15
THETT 21 30 31 61
FHETRE 80 109 95 204
FHETE B 26 15 29 44
FHETRZH 0 0 0 0
FHETSHE 0 0 0 0
F EH#TFTE 25 24 26 50

THET &5t 400 543 542 1,085
SRATHR Y 12 22 23 45
2 it HT B[R 1 3 4 7
BB F 18 34 33 67
2 i BT St E 39 57 47 104
2 [ ET A B 63 94 84 178
EREET3 2 3 5 8
2 R F 84 129 102 231
BT KE 0 0 0 0
2 i BT 4% B 33 69 54 123
2 R T $R 05 FEEm 62 80 15 155
EEEEAR 0 0 0 0
EMET ERIB 14 22 21 43
L RET L FTE 4 50 44 94
2 REE 85 24 34 34 68
EREETIIEZY 33 53 60 113
ERETIE 49 60 58 118
= R T E 3R 1 1 0 1
ERETRE 11 14 15 29
= Fi BT B i 4t ) 30 38 49 87
E BT/ E 22 27 29 56
B REET/N AL 1 2 2 4
LEMETRE R H 34 49 52 101
SRR 11 14 21 35
2 REETE K 10 11 11 22
EEETAR 54 12 64 136
EEE T RIR 17 19 23 42
2 [EHT T AITE 62 85 85 170
2 i T %7 B 9 13 16 29
ERETFE/ 1L 15 22 21 43
2 REETE> B 6 8 13 21
ST 0 0 0 0
e R B 12 20 16 36
= R BT AR 55 87 85 172
SRAETPAR 10 21 15 36
EREET{H/H 8 9 11 20
= RHT A 10 10 1 11
ST R 30 52 55 107
BTN 61 93 93 186
2 FiE] T 78 2% E 9 11 12 23
EREETE L 1 14 15 29
EmETE 95 119 137 256
2 REET8 22 26 25 51
EEETEYH 16 24 26 50
2 R ETE M 28 42 51 93
2 [ ET 48 /7 B 59 87 67 154
22 iE) BT 3 K F 25 29 33 62
2 FiE] T R /R 0 0 0 0
2 fiE] BT 7 E6 P 52 717 74 151
EREET L 37 44 40 84
2 R ET 4L B 1 0 1 1




5/16 R—2

B % T 5 it
SRATES 5 5 5 10
S AT AT ER 36 413 37 80
EREET Y H 0 0 0 0
SRATINEE 16 20 21 4
BEETEL S 18 124 114 238
EEEET 2 1 3 4
EREETE 18 19 34 53
EREETNVH 12 18 22 40
EREET/\VH 6 12 10 22
2 T E H 45 13 66 139
22 BT LU B 3 6 4 10
22 RE BT LU A% 0 0 0 0
5 fi] T 25 3t 0 0 0 0

SREAT S&t 1,516 2,171 2,118 4,289
hHHETE EE 8 14 10 24
FHETERAR 0 0 0 0
AHAEDHF 4 6 6 12
RHETEIH 3 5 3 8
FHETE I 3 4 4 8
hHETARE 91 28 93 121
AHITRRE 12 16 16 32
hHETEEE 6 1 9 16
T HETER] 3 3 1 10
T HHHET R 50 72 84 156
T HHETEEE 26 45 46 91
FHETEEILEE 0 0 0 0
T HHETERE 22 39 28 67
R HBETRILEE 2 4 2 6
RHETHE 12 19 22 4
A HETILF 3 5 6 11
S HETILE 1 4 2 6

HHET 55t 246 271 338 609
IR BT 3 1 4 11
JKATET T 22 30 25 55
JK AT BT — R 33 38 44 82
JK AT BT KA 38 60 50 110
JK 'y BT #ifi EB 4 3 3 6
JKATET E &1L 53 68 69 137
JKATET B E 1 2 1 3
JKATET _E 4 0 0 0 0
JK T HT E Kt 42 56 65 121
JKFTHT R At 45 57 54 111
I BT A4 1T 1 1 2 3
KMET T & 68 86 101 187
JK AT BT /)N R E 25 27 28 55
JKETET F &L 42 54 60 114
JKAT BT 20 32 32 64
JK Ay BT #ifi EB 0 0 0 0
JKETET RN 1 10 11 21
JKAT BT T K 49 81 72 153
JK T HT F 4 177 244 269 513
JKATET R E /i 12 13 12 25
JKATETEE IR 0 0 0 0
JKPTET R /NRE 24 39 29 68
SV 23 34 27 61
JK Py ET R E K 37 52 1 93
JKATET e T AL 0 0 0 0
KMETEYS 66 101 96 197




6/ 16 R—

B % T it

JKFTETTE £ 18 83 96 179
IKATET 488 64 89 90 179
VSR 3] 55 717 85 162
JK AT ETEE KN 24 39 30 69
IKHTETERF 4 21 30 31 61
S 40 62 52 114
JK BT F K 12 14 19 33
b SLIEN} 13 13 16 29
JK P BT AR 36 52 52 104
b SULIEE T 2] 46 33 19
JKITHTE & 14 14 23 37

JKATHET & &t 1,176 1,614 1,622 3,236
FBHEER 1 0 1 1
AHEET—IR 36 50 63 113
FHEHF7IR 1 1 1 2
EHEETRO 0 0 0 0
i E ET KEKFN 0 0 0 0
& HETRE 21 35 33 68
;& E BT Al 5 4 6 10
& EET N E 24 36 38 14
HHENER 6 5 4 9
FHEXRT 1 3 4 1
EMET EIE 3 6 4 10
EHEETEXA 9 13 12 25
EHETER 15 28 27 55
SEEET E R 14 20 17 37
A HEETHAR 0 0 0 0
HHETARE 20 24 26 50
EHEETR R H 4 3 1 4
EHET=RH 46 717 64 141
HHETHE 35 61 69 130
HHET TR 18 26 32 58
EHETEB 52 73 86 159
FEHEETT R4 47 65 60 125
575 R T B AR 0 0 0 0
HHETT/T 0 0 0 0
SEEETH/ A 1 1 0 1
HHEE P HE 18 27 25 52
FHETER 42 69 64 133
HHEET T8 5 0 0 0 0
HHEETAEIIER 4 5 7 12
HHETEE 2 1 2 3
HHEETHEE 101 149 143 292
HHETRAR 8 13 13 26
HHEETRE 0 0 0 0
EHET{EEH 9 15 11 26
FHHETERE 3 5 4 9
HHETER 0 0 0 0
SEEETHIE 54 18 60 138
& EETRE 55 13 80 153
;A EET A B 2 3 4 1
A EETPI AT 26 37 42 79
SEEETHIE 2 1 4 5
SEHEETIL/H 2 5 5 10

HHET S5 687 1,012 1,012 2,024
RAHET A 2 3 6 9
RAETAO 0 0 0 0
RAETKIR 0 0 0 0




7/16 R—2

B % il it

RAEGES 0 0 0 0
RAHET T UE 14 24 27 51
RAHET L H 1 1 3 4
RAETRO 2 2 2 4
RAHT Bt 1 3 1 4
RAHETZEH 2 1 1 2
RAHET R 20 38 42 80
IRAETIIR 6 13 13 26
IRART SRR 4 5 6 11
RAETHIE 3 6 4 10
IRAETH/ K 1 1 1 2
RAHTEIE 1 12 13 25
RAHET R 2 3 3 6
RAET A 48 8 15 17 32
RAETHER L 0 0 0 0

RAHE] S5 13 127 139 266
9./ SERET R A 11 17 19 36
4/ FRHET B £ 0 0 0 0
4./ R T = T 2 2 4 6
9./ RHT £ F5 3 4 6 10
8/ FRET 2 H 5 8 9 17
6./ 4R T K BT 3 1 5 12
/FETAE & 19 23 29 52
./ R T 1 BRI £ 20 38 34 72
/T YIS 3 6 3 9
8./ BT 4 R 0 0 0 0
8/ HET R T 1 1 1 2
4./ FRHT R R 11 10 11 21
8./ FRET + Bin 3 1 4 11
4./ BT | & BY 2 3 4 1
8./ FBET £l 15 21 27 48
9/ FRET 4R 0 0 0 0
/AR 1 2 1 3
2 I ES R 6 1 8 15
4./ 8 HT % B 2 3 6 9
8./ FRET T a5 1 11 8 19
8/ F8ET F Al 51 61 54 115
8./ B ET T P9 Al 10 20 16 36
5./ FRET B HiR 0 0 0 0
4./ BT 3R 2 2 1 3
9./ BT 27 #K 0 0 0 0
6./ BB T 1t 1 /7 g 64 19 57 136
9/ FRET S R IF 0 0 0 0
8/ FRET S ¢ 2 3 3 6
5./ FRETET 0 0 0 0
5/ FBETH O 2 2 4 6
9./ BT By 15 11 15 20 35
8/ FBET P 3 4 6 10
8./ FRET P L) 22 38 35 13
4./ RET o LU AR 18 29 28 57
4./ BT 4 P Al 19 39 40 79
9./ BT A 17 17 22 39
4/ FRET R 1R 2 2 2 4
9/ FRET R AT 5 9 8 17
9./ BT R FI Al 16 28 29 57
4/ FRET At 0 0 0 0
5./ FRHT 23R8 0 0 0 0
8./ FRET )1 R 1 1 2 3




8/ 16 R—

B % it

8/ FRET E IR 3 5 5 10
9/ FRET R AT 8 11 11 22
8./ FRET = 9 16 24 40
4./ BT = B 9 18 21 39
6./ BT A LU 12 20 21 4
5/ FRET 5% 17 31 40 n
9./ BT FRAT 24 39 51 90
4/ FET X215 4 12 11 23
/XS 4 6 3 9
8./ FRET 4 0 0 0 0
5./ FRET L 15 28 20 48
8/ FBETIL R & 9 13 21 34
5/ FRET AR AL 2 3 3 6
/e & 45 19 64 143
8/ BT 4 B 1 2 0 2
8/ FET SEt 521 802 801 1,603

FF AR T 7 Al 168 218 2117 435
FFEET 1S 9 13 13 26
FFAEET & 3 0 0 0 0
FFEET & 0 0 0 0
FiF 4E BT i 3@ 47 57 49 106
FFAEETHEIA 5 6 8 14
FFAEET LI 16 16 27 43
FFEET—T B 5 5 5 10
R#EET=TH 103 167 172 339
FHEET=TH 45 59 59 118
FIAEET &&t 398 541 550 1,091

iEaniA ki 29 35 37 72
FFHMETEIESF 1 14 8 22
R R B E 80 143 115 258
FHHMETE R 40 40 57 97
i RETEIE T 3 5 4 9
MATE S5t 159 2317 221 458
AT 0 0 0 0
SEARET R F 66 18 84 162
S ARHET X8R 0 0 0 0
B RE 0 0 0 0
S ERHT H il 14 85 93 178
388 BRHET S 1A 61 14 67 141
AT St 201 2317 244 481

Y& A BT 60 72 63 135
7 SHHT 291 357 365 722
J\BEEHT 341 390 423 813
4 BR T 351 386 430 816
ZHT 390 483 523 1,006
_EAHT 126 162 165 3217
rh R A HT 479 572 600 1,172
FUHT 308 382 368 150
) 246 276 280 556
e 584 685 702 1,387
= AT 3217 417 466 883
RET 382 472 444 916
JEHET 167 229 216 445
FL LT 248 329 353 682
7 B HT 335 404 440 844
NG 346 399 426 825




9/16 R—%

BT il it

T 321 368 421 789
i) 431 468 459 921
Ha R ET 6 12 11 23
R D 17 23 25 48
HaRETKE 1 1 1 2
HEEIEER 64 60 62 122
HERAETRLL 0 0 0 0
HRET IS 27 42 52 94
HEE IR 22 42 39 81
HaREE /R 9 14 22 36
HaREET/M L 0 0 0 0
HRETIRE? 0 0 0 0
HRHATH8 0 0 0 0
Ha R BT R 3th B 1 1 1 2
Ha/RET 5B 3 4 2 6
Ha R BT £ 6a 14 18 20 38
HEETE L 17 10 10 20
+aJRET H B 1 3 2 5
HaEE PR 12 13 20 33
HEETEH 0 0 0 0
HaRETHEL) 0 0 0 0
Ha R BT K% 0 0 0 0

HWREE S5t 184 243 267 510
TR 5 36 39 42 81
WEELIEF 29 32 39 n
MAE T 2 3 2 5
EELES n 93 96 189
BT HEAR 37 62 58 120
MBET— /1 15 13 15 28
7 43 BT Fig 4 6 5 11
WELIPN:T 45 44 38 82
BT K &R 26 13 17 30
TmHEH/E 7 7 10 17
MBESHE 56 65 70 135
TMHETE/ 1L 3 4 2 6
Tr A BT B4 51 67 62 129
TAETALL 70 72 65 137
AT 52 55 39 94
MAELTR 50 66 13 139
MBI 36 52 53 105
WEIES 51 81 82 163
MHBETRAT 13 21 27 48
WESL PN E i 0 0 0 0
WELIEE 29 47 48 95
WVE-LE Yl 9 9 15 24
A ETEE SR 52 53 56 109
TmAEERAL 42 55 49 104
45 BT+ E 40 56 59 115
BT/ 13 21 22 43
TS ETER 63 90 87 177
MHEEtR 86 94 60 154
MAETTFAW 35 38 48 86
MEEE/ R 0 0 0 0
45 ET A B 25 19 18 37
T ETE R 38 53 45 98
MHEH & 15 24 19 43
ET P g 413 57 56 113
T A5 BT P /7 I 9 9 9 18




10/ 16 R—2

B % T it

45 BT $R E 118 141 65 206
MAETE/ R 107 111 109 220
TAETER I 74 121 114 235
B8 45 54 56 110
TmaEmEE 32 43 40 83
MBEER 39 51 58 109
BT EE 49 413 45 88
WESLEREE! 81 105 93 198
A ET HIREF 15 18 18 36
A ETALE 42 43 3 14
T ETERA 18 21 29 50
T 25 BT H 166 218 198 416
MUEETIENES 3 4 1 5
BT E AT 42 62 44 106
T 25 BT STHT 717 105 113 218
WA el 0 0 0 0
WEELRE 66 19 98 177
MAE R HE 10 17 9 26
AT 89 124 111 235

AT SE 2,226 2,780 2,618 5,398
FHIHET B % 3 3 5 8
AT F 24 35 4 16
IR/ 6 5 7 12
FEHET R 1 6 1 7
FIHET AP <F 0 0 0 0
7516 FT E &7 4 8 6 14
FIEET S 6 10 7 17
FHIEET {8 10 21 22 43
FHIEET T 3 4 6 10
FEATEZ 1 0 0 0 0
FIEET A4 24 36 4 717
FHIHET 5 11 17 14 31
FEIRETRE L 9 14 18 32
FHET /0 0 0 0 0

PiHET & 101 159 168 3217
BRAELE 157 69 111 180
BRAEE—8A 0 0 0 0
BREEHFA 0 0 0 0
BRAETES 9 10 14 24
BRAEXA 0 0 0 0
BRaETXE 21 24 26 50
BAEE 2 3 3 6
BRAETHE 2 5 2 7
BAETHTih 0 0 0 0
REHEE 0 0 0 0
BAETAR/HI 10 13 16 29
RAEETOED 15 20 16 36
RAEEH 28 35 42 717
RAEETRERE 65 92 97 189
RAEET=H 7 10 9 19
BRAERE 62 70 69 139
BREHtRE 13 13 18 31
BAETLIX 16 20 21 4
ek VAP 16 30 26 56
RAELER 3 6 5 11
BRAEEHEHR 20 37 28 65
RAEEFR 57 82 66 148
RAEETESE 0 0 0 0




11/16 R—

B % T it
BRER_RH 24 30 36 66
BRaETEHE 14 22 21 43
REHEL 0 0 0 0
RAEER 9 12 17 29
BaETEE S 6 3 4 1
BRAEEREE 10 7 5 12
BAELR 27 33 26 59
BAETER 17 22 26 48
BAETA 61 84 96 180
B AHETAIE 86 103 86 189
BRAHETALE 8 1 9 16
RAERE 4 5 3 8
BRAETER 12 83 96 179
BRETEA 48 19 71 156

BaE 8t 889 1,029 1,071 2,100
EESHTXH4H 0 0 0 0
ERHA/X 3 6 1 13
Fe S HT H 188 3 4 5 9
BEBETH/ Kk 0 0 0 0
e SET2 H 18 24 27 51
BEEH IR 17 23 23 46
Fe BETKE 27 31 18 49
Fe ST 67 15 n 146
Fie S HIT R 40 47 44 91
e SHTH IR 15 15 25 40
ERHE2E 0 0 0 0
FESHETIIIE 34 4 29 70
Fie S HiT S s 413 56 69 125
ST AH 8 11 13 24
ST RE 6 9 6 15
EREEZE/T 39 44 50 94
BE BETR A5 16 11 17 28
Fe BT 4R 36 48 46 94
Fe SET AR 4R 66 91 96 187
Fe BHET/\F 3 5 5 10
Fe B ETEH 0 0 0 0
EESETHI 239 230 271 501
e S ETRE n 87 18 165
EREHE/E 33 45 47 92
B B ET Al 53 n 67 138
e S AT RD 26 42 44 86

BES AT &E&f 863 1,016 1,058 2,074
ST 0 0 0 0
—BE XA 0 0 0 0
—BiXE 9 17 13 30
—BHEFR 4 5 7 12
— & ikl 1 2 2 4
—BHTRME 3 1 4 5
—BEIRE 5 6 9 15
—BE 2 5 6 6 12
—BHET T4 3 55 47 102
—BE T Fik 0 0 0 0
— B HTRIE 8 16 11 27
—EEE& 4 4 4 8
= 11 22 16 38
—BEE/A 0 0 0 0
—BHTFEL 1 2 1 3
— B BT ETE 0 0 0 0




12/16 R—=2

B £ i &t

— 5 BT 2 2 4 6
— BB 4 5 3 8
—EETEM 16 19 20 39
— & B3 E 2 1 3 4
— BT 28 4 43 84
— AR 8 13 15 28
— &R 4 7 6 13
— & BT E 13 8 14 22
—BEET 2 2 2 4

— &0 &5 161 234 230 464
S TRIRE 2 2 2 4
STEREA 54 66 69 135
£TE—/iR 17 18 11 29
STHHER 18 20 27 47
& FRIFEH 4 49 57 106
STAEL 10 16 11 27
£ TEMEH 38 28 43 7
S FAE /5 7 5 5 10
S TR 1 1 1 2
£ FRTNE 15 23 27 50
STEETRE 2 2 4 6
STATAK 0 0 0 0
£ TEAE 9 7 10 17
£ FEIEL 0 0 0 0
& FRTHTIR 36 54 53 107
S TEER 34 40 33 73
£ TR 13 16 14 30
£ TR E AP 15 16 16 32
£ TE LEA 3 5 4 9
2 TR EH 38 45 53 98
STAAEH 23 23 29 52
2 FEILR 19 24 28 52
SFE=AK 10 16 18 34
STMTREE 1 0 1 1
S TRIEFS 5 6 7 13
& FATAP 53 75 95 170
STEIZ/K 18 31 34 65
£ TFEHRN 2 1 1 2
£ TRIRHE 23 37 34 7
S THEITEE 33 51 55 106
STALEE 25 35 34 69
S TERTHE 43 61 63 124
STAEF 1 5 3 8
S TRL1E 19 32 34 66
£ TR E 11 12 13 25
STRIRIR 19 28 29 57
£ TR 20 29 26 55
STENE 7 10 12 22
£ TRIEE 0 0 0 0
STRIEE 45 67 58 125
S TR ER 38 55 56 111
2 TEE/ N 21 33 28 61
£ FETE1E 0 0 0 0
S TR 28 47 39 86
S TR 8 10 10 20
£ TEIEHEA 4 5 4 9
SFANLT 38 58 60 118
£ FENL/B 1 1 1 2




13/16 R—2

B % il it

& T [T 585 4 5 3 2 5

& FH S 873 1,168 1,214 2,382
T R ET RS 15 20 16 36
T2 R BT 51t BB 1 1 1 2
i RET H 41 0 0 0 0
KRBT R 12 85 92 177
T RETT 5 42 55 65 120
BRETRTF 64 18 83 161
IR BT SIEF 10 12 13 25
T RETKR 9 14 13 27
iz IR BT K 4 13 57 130
iz IRET K8 0 0 0 0
2 RETHIR 0 0 0 0
T IRET B &R 33 39 49 88
MERRTF 3 3 4 1
HRETERH 289 404 442 846
2 IR T $8 8515 14 24 16 40
2 RETRE R 85 104 116 220
BRI EEH 49 58 59 117
e R ET st 21 43 36 19
MIRET LIETF 31 49 49 98
HIRET& 3 22 37 26 63
Tz IR BTN R 56 62 68 130
HERETHET 14 12 22 34
e RETIE B4R 35 40 413 83
iz IR BT Jb gt 5 8 9 17
i IR BT AL 5k 39 52 60 112
MERHILER 36 44 51 95
HAELIEIR i 123 17 152 323
HAELIEISS NI 135 204 224 428
iz IR AT AL K EA #t 37 50 4 91
e RETIEE 46 14 19 153
HERETILF A H 19 18 21 39
HIRETILE 416 567 500 1,067
T RETIL & 51 67 66 133
RETILER 61 92 103 195
MIRETEH R R 23 35 34 69
T IRHET A R B 50 16 16 152
HERE T 52 82 80 162
MR T s 67 87 90 177
T IRET T &3 72 98 105 203
T IRET IR 105 161 143 304
T IRET T EH 36 49 62 111
2 IRET 42 3R 11 18 17 35
HIRET IR 1 1 0 1
i R BT £ B 0 0 0 0
T2 RET AL 5 8 10 18
e IR ETE 34 413 39 82
iz IR ET{H 26 42 36 78
e IRETR 5 65 88 83 17
RERETHO 98 137 119 256
e TR AT R/ L 2 5 3 8
MIRET R FE 16 18 22 40
i IR BT 4 23 27 27 54
e IRET R B8 38 49 52 101
% [ T 76 Fig 1o 83 38 72 110
e IR ETPE L 87 36 42 42 84
iz IR BT F5 i B 59 14 93 167




14 /16 R—T

B % T it
MEREER/E 24 30 35 65
iz IR HT P K A 16 18 23 4
HEETEFEH 30 37 42 79
EREEFH 21 28 26 54
i IR BT 75 AR 4 68 99 106 205
iz IR BT FE AR I 21 27 27 54
ERETE4H 10 11 13 24
AGIREES 0 0 0 0
iz IR BT 3R 3 38 40 18
T IRET/\ 7% 5 1 9 16
% I BT SR Fie o 19 32 33 65
HAELE 5 72 102 101 203
o IRETER £ 47 64 72 136
iz IR BT SR B 67 91 95 186
HMRETERX/ £ 27 30 4 n
2 IR T R g it 37 4 39 80
iz IR BT 51 5k 13 23 19 42
WRETERIZT 41 59 55 114
HAELIE Yak:-Eai 413 59 54 113
. RETER A H 32 49 46 95
72 [ BT 51 1 4 n 84 92 176
2 IR BT SR AR 14 92 100 192
MEREEA 2] 30 26 56
i IR BT /L B 52 72 70 142
R RETEII 23 35 34 69
T2 IR BT 4 BB 63 101 105 206
T2 IR BT AT 4 39 41 80
AL IES 67 122 125 2417
T JR BT = SR T 15 94 96 190
A RS 49 49 63 112
iz IR BT A HT 54 70 80 150
e IRET R T i5 45 55 66 121
% I BT R 13 23 24 47
iz IR BT B o ik 10 14 20 34
e RETEI /ML 5 6 5 11
M IRETEE R 12 95 97 192
T RETE#E 69 66 86 152
AL RSN 94 155 138 293
2 IR BT R K EA 3 30 413 37 80
i RET Rt 53 88 81 169
2 IRETRE P B 3 29 37 413 80
HIRETE 4 H 21 38 30 68
HIRETE & 2] 39 38 177
K RETRIER 3 39 40 19
2 IRETEATR 22 32 36 68
HRETZO 3 2 3 5
iz R BT AR 8 13 9 22

WIRET &5t 4,528 6,116 6,242 12,358
FRAT RS 0 0 0 0
SRR SIS 8 12 15 27
[ 23 29 34 63
FHAT R R L 6 11 8 19
EHAIZEET 27 40 38 18
75 ET it B 39 55 54 109
FESHET— K 45 54 60 114
o SHETREA 0 0 0 0
R RE AR 10 11 14 25
FESHETREAE L 0 0 0 0




15/ 16 R—

B % il it
TR 19 24 22 46
FBAAT RN 26 36 33 69
[ PN 26 41 42 83
[ih PN 11 14 19 33
PR AT K3k 0 0 0 0
FEHET K B & 0 0 0 0
FEHETRA 7 A 13 20 17 37
FEAET R 97 16 49 125
FEHATEEAT 0 0 0 0
FEHET T8 E 4 6 17 13
TR 11 17 19 36
FEEET E 2] 0 0 0 0
R AR 53 81 86 167
FESHETIER 27 36 43 19
PG SHETH E 0 0 0 0
FERATAE 7 A 5 17 17 14
BT R L 45 68 75 143
FEAETIL<C 4 8 8 16
FEHET AL K0 4R 66 83 101 184
FEHETIL /1 0 0 0 0
FESHET AL 46 50 57 63 120
BT 15 70 97 109 206
R AR 12 17 20 37
FEHETILPIF 39 63 60 123
EHEITOELT 4 3 4 1
TS S 3 3 3 6
FHAT R 23 35 32 67
FRAT/MET A 4 1 4 11
R /MEE 5 9 6 15
FHT AR 40 57 56 113
FEEIT =R H 7 13 13 26
PHSHETIR AR 38 28 41 69
75 5FHET T i 51 80 14 154
PEHET FE AT 1 1 2 3
AT HTA 0 0 0 0
AT E S 0 0 0 0
BRI ES S 88 103 110 213
FESEETE AL 0 0 0 0
FEHEETH 1L 0 0 0 0
P AT SLER LY 3 5 7 12
FEHETE Y 9 9 6 15
FESHETE A 9 14 15 29
BT ERH 59 84 93 177
PR AT R 0 0 0 0
FRAT R 0 0 0 0
75T Fa iR 4R 17 15 13 28
AT/ A 0 0 0 0
iR iRy ! 16 24 25 49
75 SHET 7 S 4E 88 101 128 229
FESHET A L 13 22 16 38
75SHET B 48 61 67 128
FEHETIEPI P 19 33 29 62
AT A 2 2 2 4
PESHET R E 3 6 6 12
BEHETRPIF 3 38 52 90
AT /R 0 0 0 0
AT < 53 72 62 134
FEIHET E QG 19 26 20 46




16 /16 R—2

B % T 5 it

75T S AR AR 12 15 15 30
FEHETE— K 26 27 26 53
FHET R AL 15 22 21 43
PG HETHE B 6 8 8 16
FEHETIEY) 12 22 19 4
AT AR 0 0 0 0
FESHETALE 15 14 12 26
FESHET Y15 35 47 56 103
FESHET LR 13 16 24 40
AL 20 23 22 45
EHET IR 13 20 18 38
oA K E 0 0 0 0
EHETE T 0 0 0 0
FHETRE R L 30 49 53 102
FRATR 4 1T 72 102 98 200
FEHETE<C 3 4 3 17
FESHETRR 0 0 0 0
78T R K047 80 110 102 212
PG SHET R S 4E 67 105 81 186
R RS 62 95 88 183
o R EEAHR 1 1 1 2
FRATE #TH 37 47 46 93
FHSHET = i 0 0 0 0
FEHETE R 0 0 0 0
75 HETERHR 14 27 20 47
PR AT A L 0 0 0 0
AT SR 34 48 46 94
FEHETE L 2 2 3 5
FESAET AL 55 89 89 178
PG SHETPI E 13 18 20 38
FESHETFI A L 0 0 0 0
FESHETHIR 0 0 0 0
75 S ET LU 13 22 19 4
P RATREE 86 111 111 222
b AN 1 4 3 1

PEHET S5t 2,126 2,862 2,893 5,755

am St 30,353 38,969 39,754 | 18,723




